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Ynpasicnenue 1. Boruucnume:

1) log,a, log,1, log,a®, log, 1, log, JE, log, ﬁ =
1 ¢ J2
2) log, =, log, 2, log,1, log,8, log,+2, log, —:
2 3 2 2 2 2 2

3) log,27, loggé, logg %, log, V2, logr\/%, log i log /5 $125.



Ynpasicnenue 2. Cpagnume:

1) log,2 amu 0; 5) loga4 uam 1; 9) log, 7 nan log, 10;
3 3
1 1 1
2) log,;3 mmu 0; 6) log,— nam 1; 10} log, —wnan log, —.
3 78 3" 3l
3) lng,}%nnn 0; 7) log,3 mam log,d;

1
4) log, % uau 0; 8) log,7 nau logzg;

3



Ynpasicnenue 3.

3aMeHUuTe JorapudhMut log, a, logga, log,a, log 7@ logsa nmorapngmMaMu 110 OCHO-
BaEMIO 2. 2 4



Ynpasricnenue 4. Botuucaume:

a) lg 8 + lg 125;

B) log,, 4 + log,, 36;

lg8+1g18
21g2+1g3’

B) log, 11 — log, 44;

a)

6) log, 7 —log, {6;

r) lg 13 — lg 130.




Ynpascuenue 6. Ynpocmums eviparxcenue, ucnoib3ysa 0CHOBHOE J102apUPMUUECKOe MOHCOECMBO:

logy 72 w log g 5
. a) 1,7%17%; ) n'o8«%2, gy glog2s. .y g glogssll

)

| 1+ log, 2
5 a) 51+10£53; 6) 101=lg2; B) (%} l_'; : I") 32-103318.

a1 \4log, 3



Ynpasicnenue 7.

UapecTHO, uTO log; 2 = a u log; 3 = b. Beripasure 4epes a H b:

a) log. 72; 6) log, 15; B) log; 12; r) log. 30.



Ynpasicuenue 8.

3anviIuTe YHMCJIO0 B BUAE Jorapudma ¢ OCHOBAHUEM a:
a) 2, %, 1, O opu a = 4; 6) 3, -1, -3, 1 opm a = 3;

B) 3, —:21-, 0, -1 npu a = 2; r) 1, -2, 0, 3 opm a = 5.



